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LISTENING: 2015 LEAGUE CUP FINAL  

 ANSWER KEY WORKSHEET 

1. Chelsea and Tottenham joined the tournament in the third round because... 

a) they were not classified to play the first and second round 

b) they didn’t win all the previous matches to the third round 

c) they were involved in European competitions 

 

2. Chelsea beat... 

a) Bolton, Spurs and Nottingham Forest 

b) Bolton, Shrewsbury, Derby County and Liverpool 

c) Brighton and Shrewsbury 

 

3. Spurs defeated... 

a) Nottingham Forest, Brighton, Newcastle and Sheffield United 

b) Bolton, Shrewsbury and Derby County 

c) Sheffield United and Liverpool 

 

4. According to the text, the manager that has won more trophies is... 

a) José Mourinho 

b) Mauricio Pochettino 

c) They have won the same amount of trophies. 

 

5. Diego Costa, Didier Drogba and Remy are strikers from... 

a) Spurs 

b) Chelsea 

c) They don’t belong to any of the teams mentioned above. 

 


